
1 of 1

NO.1 NO.2

NO.4

(1)

Install plastic side covers with

same desk framescrews and put

into steel shellbefore covering

table top.

B×2

M6×16

NO.3

Oakdesk

Do not first tight these

screws, until last screw

piece twisted into motor.

E×3

M4×16

C×2

M6×40

A×4

M6×40

B×2

M6×16

D×4

(1)

(1)

(1)

(2)

(1)

(1)

A×4

M6×40

(1)

(1)

(3)

(3)

NO.5

NO.6

NogAanTePassen
Rechthoek

NogAanTePassen
Rechthoek


